Theorie

1. l_o\})lace - Trams(:o rvszJ'\‘Oln

00

Lipdo = [ A dt
(0]

= Darslellung (Doexsc\A-Samgofe o—e |

T, . Betspie |:
‘“F’““'ﬁﬁ’wa o ‘ T A o E(9)

e : o j%ﬂ@ o—s sF(s)— £(0)

Originelonkhon ek, !
8 £ t'e (S*OAW&
- RSk eromero FVV\OA‘TOV\

n!
Beispiel: Lose {0~ y(b) = e §0)= o) -0 [“é“ﬁ ‘H“’(mw]
S Mgk golo - stiFyola- gyo| - s(sL50160 - 4o)- 50
MJ AéH de -0 J / 2
= st Y(s) - s?(o) - «'2(0) = 5% Y(s)
- ,,ﬂ(ing(t)l(s) = Y(s)

> Lietlie - 5—% = T V(s) - Y(s) - 1 = Y = L

g-1 (s2-1) (s-1)
B 1
) BT PENT
- Rk brans formahion: 4 - L2 VR ()
i _ I\ B C _ —i/q . i/2 . i/q
/(s) = (seN(s-1)7 " 5-1 "0 sk T s G sed
E ORI Loy | Ay Loe 4L, 4+ 1 -t
?(ﬁ3= »U‘q sﬂmﬁ {‘i(s-nlg* L EW su% - Tyt « 7 te T
Nn=0 n=1 n=0
a=-1 a-=-1 a-1 =

% Lte* - %*SIV\\/\(t)







